
49ProTeam

PROBLITZ AIR MOVER PARTS
 No. Product Name Qty List Price
1 510141 Switch & Knob Assembly 1 ea. $  5.00
2 833658 Inlet Grill 1 ea. 5.45
3 820563-7 Screw, Type AB #10 x ¾" 1 ea. .05
4 833673 Threaded Inserts - Housing 1 ea. 5.60
5 820563-7 Screw, Type AB #10 x ¾" 1 ea. .05
6 820563-13 Screw, Type AB #10 x 1" 1 ea. .05
7 510140 Wheel Assembly (ProBlitz XP only) 1 ea. 5.00
8 820563-7 Screw, Type AB #10 x ¾" (ProBlitz XP only) 1 ea. .05
9 833690 Foot Bumper 1 ea. 1.50
  (Only four (4) required for ProBlitz XP)
10 820563-7 Screw, Type AB #10 x ¾" 1 ea. .05
  (Only four (4) required for ProBlitz XP)
11 833659 Exhaust Grill 1 ea. 5.04
12 833674 Motor 1 ea. 137.95
13 833675 Cord w/Plug 1 ea. 25.85
14 833660 Blower Wheel 1 ea. 29.90
15 833691 Retractable Handle (ProBlitz XP only) 1 ea. 28.75
16 820563-7 Screw, Type AB #10 x ¾" (ProBlitz XP only) 1 ea. .05


